Common Factors Common Multiples

Factors of 48 Multiples of 3
F1l2]3] 4|6 s|12|16]2s|as]| [ 3] . |18]22]24] .. |39 [a2]
Factors of 30 Multiples of 7
la] 23] 5|6 w0|1s]30| | 7 |14 [20] 28| 35 | 42|
‘%SIIFIELD Common factors: 1, 2, 3, 6 Common multiples: 21, 42...
]U}J”I(J,)IBE}C;EIQOL Primes Squares and Cubes
A prime number has only 1 and itself Square numbers result from a number
as factors: 2, 3, 5, 7, 11, 13, 17, 19, being multiplied by itself (e.g. 5 x 5 = 25):
Fractions 23,29, 31, 33, 37, 41, 43 1,4,9, 16, 25, 36, 49, 64, 81, 100
A composite number has factors other

Cube numbers result from a number being
multiplied by itself twice (2 x 2 x 2 = 8):
1, 8, 27, 64, 125

Adding & Subtracting Fractions Factors are numbers

WHER TWOEFacHioA Hive 18 Silifie DenoRIRETIR we can multiply together

than 1 and itself.
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If the two fractions in the calculation have the same d i , the d
will stay the same. Then all you need to do is simply add or subract the numerators
to find the sum of the fractions.
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5 5 5 g gemg Multiples are the result of

to get another number.

When Two Fractions Have Different Denominators
First, find the ! d i (smallest whole ber that has both

denominators as factors). Rewrite the fractions with that denominator then add or
subtract. When working with mixed numbers, add or subtract the whole numbers too.

T [y | P another. For example, 56 is
a multiple of 7.

one number multiplied by

2 2 5
@5 5 293
g6 10 10 10

Mixed Numbers Improper Fractions
Mixed numbers contain a whole number and An improper fraction is a fraction where the
a fraction. numerator is greater than or equal to the

denominator.

5 A nuUMerator

2 7 is a mixed number.

The whole number is 2. 3 s denominator

The fraction is 7.

numerator

15+ is a mixed number.
The whole number is 15.
The fraction is % .

denominator



Multiplying a Fraction by a Whole Number

A

First, put the whole number over 1 so that it is a fraction.

3T
Multiply the numerators together, and multiply the
denominators together.

6x3=18
18+1=19

The Problem: Flip the second fraction to change the
problem from division to multiplication.
2 ° 2 2

Stepl B
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First multiply the numerators together. Do the same for the denominators.

1x3
b x 2

2
C — —
ompare a 3
The LCMof 3 and 4 is 12
3x3_9 2x4 8
4x3 12 3x4 12
g 8
12}12
19 — 3=6
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